
1                                                  www.noteswarehouse.co.za 

 

SOLUTIONS FOR BNU 1501 EXAMINATION QUESTION PAPER 

OCTOBER/NOVEMBER 2014 

 

1. 𝑎3 − 2𝑏𝑎2 + 10𝑏2𝑎 − 5𝑎2𝑏 + 14𝑏3 − 7𝑎𝑏2 

 

𝑎3 − 2𝑎2𝑏 − 5𝑎2𝑏 − 7𝑎𝑏2 + 10𝑎𝑏2 + 14𝑏3  

 

𝑎3 − 7𝑎2𝑏 + 3𝑎𝑏2 + 14𝑏3                  Option [3] 

 

2. 30𝑥𝑦 − (15𝑥2𝑦3 𝑋 2𝑦0) 

 

30𝑥𝑦 − 30𝑥2𝑦3                                    Option [5] 

 

3. 30𝑥4𝑦3 − 15𝑥2𝑦3 𝑋 2𝑦3 

 

30𝑥4𝑦3 − 30𝑥2𝑦6                                Option [5] 

 

4. 2𝑥 − 3 = 3 − 𝑥 

 

2𝑥 + 𝑥 = 3 + 3  

 

3𝑥 = 6  

 

𝑥 = 2                                                     Option [3] 

 

5. 2(2𝑥 − 1) = 𝑥 + 1 

 

4𝑥 − 2 = 𝑥 + 1  

 

4𝑥 − 𝑥 = 1 + 2  

 

3𝑥 = 3  
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3𝑥

3
=

3

3
  

 

𝑥 = 1                              Option [4] 

 

6. 5(𝑥 − 3)                        Option [2] 

 

7. 𝐷𝑖𝑠𝑡𝑎𝑛𝑐𝑒 = 𝑆𝑝𝑒𝑒𝑑 𝑋 𝑇𝑖𝑚𝑒 

 

𝑑 =
270

 𝑝
 𝑋 𝑥                    Option [1] 

 

8. 𝐶 = 10 + 10 + (
1

2
 𝑋 2𝜋 𝑋 5) + 10 + 10 + (

1

2
 𝑋 2𝜋 𝑋 5) 

 

𝐶 = 20 + 15.70796327 + 20 + 15.70796327  

 

𝐶 = 71.41592654𝑐𝑚                             𝑏𝑢𝑡 100𝑐𝑚 = 1𝑚  

 

𝐶 =
71.41592654

100
  

 

𝐶 = 0.71𝑚                      Option [1] 

 

9. 𝑇𝑜𝑡𝑎𝑙 𝑎𝑟𝑒𝑎 𝑜𝑓 𝑡𝑤𝑜 𝑡𝑟𝑖𝑎𝑛𝑔𝑙𝑒𝑠 = 2 𝑋
1

2
 𝑋 16 𝑋 6 = 96𝑐𝑚2 

 

𝑇𝑜𝑡𝑎𝑙 𝑎𝑟𝑒𝑎 𝑜𝑓 𝑡𝑤𝑜 ℎ𝑎𝑙𝑓 𝑐𝑖𝑟𝑐𝑙𝑒𝑠 = 2 𝑋
1

2
 𝑋 𝜋 𝑋 5 𝑋 5 = 78.54𝑐𝑚2  

 

𝐴𝑟𝑒𝑎 𝑜𝑓 𝑎 𝑟𝑒𝑐𝑡𝑎𝑛𝑔𝑙𝑒 = 16 𝑋 10 = 160 𝑐𝑚2  

 

𝑇𝑜𝑡𝑎𝑙 𝑎𝑟𝑒𝑎 = 96 + 78.54 + 160 = 334.54𝑐𝑚2                 Option [4] 

 

 

 

 



3                                                  www.noteswarehouse.co.za 

 

10. 𝑉 = 𝑙 𝑋 𝑏 𝑋 ℎ 

 

𝑉 = 60 𝑋 35 𝑋 10  

 

𝑉 = 21 000𝑐𝑚3                                     𝑏𝑢𝑡 1𝑐𝑚3 = 0.001𝑙   

 

𝑉 = 21 000 𝑋 0.001𝑙  

 

𝑉 = 21𝑙                                                    Option [4] 

 

11. 𝐴𝑟𝑒𝑎 𝑜𝑓 𝑝𝑙𝑎𝑦𝑖𝑛𝑔 𝑓𝑖𝑒𝑙𝑑 = 32𝑚 𝑋 32𝑚 = 1 024𝑚2 

 

𝐶𝑜𝑠𝑡 = 1 024 𝑋 60 = 𝑅61 440.00         Option [3] 

 

12. 𝑆 = 𝑃(1 + 𝑟𝑡) 

 
𝑆

1+𝑟𝑡
=

𝑃(1+𝑟𝑡)

1+𝑟𝑡
  

 

𝑃 =  
𝑆

1+𝑟𝑡
                                                    Option [2] 

 

13. 𝑐 =
𝑥

𝑎
− 𝑏 

 

𝑏 + 𝑐 =
𝑥

𝑎
  

 

𝑥 = 𝑎(𝑏 + 𝑐)  

 

𝑥 = 𝑏𝑎 + 𝑐𝑎                                                 Option [3] 
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14. 𝑇𝑜𝑡𝑎𝑙 𝑐𝑜𝑠𝑡 = 500 + (50 𝑋 10) 

 

                   = 1 000 

 

 

𝑆𝑒𝑙𝑙𝑖𝑛𝑔 𝑝𝑟𝑖𝑐𝑒 = 35 𝑋 50  

 

                       = 1 750 

 

𝑃𝑟𝑜𝑓𝑖𝑡 = 𝑆𝑒𝑙𝑙𝑖𝑛𝑔 𝑝𝑟𝑖𝑐𝑒 − 𝑇𝑜𝑡𝑎𝑙 𝑐𝑜𝑠𝑡  

 

              = 1 750 − 1 000 = 𝑅750   𝑝𝑒𝑟 𝑑𝑎𝑦  

 

𝑃𝑟𝑜𝑓𝑖𝑡 𝑝𝑒𝑟 𝑤𝑒𝑒𝑘 = 6 𝑋 750  

 

                             = 𝑅4 500                Option [4] 

 

15. 𝐸𝑥𝑝𝑟𝑒𝑠𝑠 𝑒𝑎𝑐ℎ 𝑛𝑢𝑚𝑏𝑒𝑟 𝑎𝑠 𝑎 𝑝𝑟𝑜𝑑𝑢𝑐𝑡 𝑜𝑓 𝑖𝑡𝑠 𝑝𝑟𝑖𝑚𝑒 𝑓𝑎𝑐𝑡𝑜𝑟𝑠 

 

18 = 2 𝑋3 𝑋 3  

36 = 2 𝑋 2 𝑋 3 𝑋 3  

27 = 3 𝑋 3 𝑋 3  

 

𝑎. 𝐿𝐶𝑀 = 2 𝑋 2 𝑋 3 𝑋 3 𝑋 3 = 108  

 

3𝑠𝑡 = 3 𝑋 𝑠 𝑋 𝑡  

4𝑠2 = 2 𝑋 2 𝑋𝑠 𝑋 𝑠  

5𝑡2 = 5 𝑋 𝑡 𝑋 𝑡  

 

𝑏. 𝐿𝐶𝑀 = 2 𝑋 2 𝑋 3 𝑋 5 𝑋 𝑠 𝑋 𝑠 𝑋 𝑡 𝑋 𝑡 = 60𝑡2𝑠2                Option [5] 
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16. 𝑎.    
3

8
−

4

7
 𝑋

9

14
 

 

   =
3

8
−

36

98
 

 

  =
3

8
−

18

49
 

 

  =
3

392
   

 

 

 

𝑏.   
12

6
 𝑋

4

1
 ÷

1

2
    

 

     =
12

6
 𝑋

4

1
 𝑋

2

1
 

 

    =
96

6
 

 

    =16 

 

𝑐.   
3

10
+

5

12
  

 

  =
18+25

60
 

 

   =
43

60
                                        Option [5] 

 

17. 𝐺𝑖𝑣𝑒𝑛 𝑡𝑤𝑜 𝑝𝑜𝑖𝑛𝑡𝑠  (−1,2) 𝑎𝑛𝑑 (2,1)  

 
𝑦−𝑦1

𝑥−𝑥1
=

𝑦2−𝑦1

𝑥2−𝑥1
  

 
𝑦−2

𝑥−(−1)
=

1−2

2−(−1)
  

 
𝑦−2

𝑥+1
=

−1

3
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3(𝑦 − 2) = −1(𝑥 + 1)  

 

3𝑦 − 6 = −𝑥 − 1  

 

3𝑦 = −𝑥 − 1 + 6  

 

3𝑦 = −𝑥 + 5                                          

 

𝑦 = −
1

3
+

5

3
                                Option [5] 

 

 

18. 600 − 450 = 150 

 

𝑃𝑒𝑟𝑐𝑒𝑛𝑡𝑎𝑔𝑒 𝑙𝑜𝑠𝑠 =
150

600
 𝑋 100  

 

                              = 25.00%      Option [1] 

 

19.                     2: 5: 3                      𝑠𝑢𝑚 = 10 

 

𝑀𝑒𝑙𝑡𝑒𝑑 𝑤𝑎𝑥 =
2

10
 𝑋 50  

 

                      10.00𝑙                     Option [3] 

 

20. 𝑆 = 𝑃(1 + 𝑟𝑡) 

 

𝑆 = 22 500 (1 + 0.12 𝑋 5)  

 

𝑆 = 22 500 (1.6)  

 

𝑆 = 𝑅36 000                                  Option [3] 
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21.  𝑆 = 𝑃(1 + 𝑟𝑡) 

 
𝑆

𝑃
= 1 + 𝑟𝑡  

 
𝑆

𝑃
− 1 = 𝑟𝑡  

 

𝑟 =
𝑆

𝑃
−1

𝑡
  

 

𝑟 =
[

12 000

9 500
−1]

18

12

  

 

𝑟 =
0.263157894

1.5
  

 

𝑟 = 0.1754 𝑋 100  

 

𝑟 = 17.54%                                 Option [1] 

 

22. 𝑆 =  𝑃 (1 +
𝑗𝑚

𝑚
)

𝑡𝑚
                      𝑤ℎ𝑒𝑟𝑒: 𝑗𝑚 =  𝑛𝑜𝑟𝑚𝑖𝑛𝑎𝑙 𝑖𝑛𝑡𝑒𝑟𝑒𝑠𝑡 𝑟𝑎𝑡𝑒              

                                                                  𝑚 = 𝑛𝑢𝑚𝑏𝑒𝑟 𝑜𝑓 𝑐𝑜𝑚𝑝𝑜𝑢𝑛𝑑𝑖𝑛𝑔 𝑝𝑒𝑟𝑖𝑜𝑑𝑠 

                                                                   𝑡 =  𝑛𝑢𝑚𝑏𝑒𝑟 𝑜𝑓 𝑦𝑒𝑎𝑟𝑠 

                                                                   𝑆 = 𝑆𝑢𝑚 𝑎𝑐𝑐𝑢𝑚𝑢𝑙𝑎𝑡𝑒𝑑 

                                                                   𝑃 = 𝑃𝑟𝑖𝑛𝑐𝑖𝑝𝑎𝑙 

                                                     

 

(
𝑆

𝑃
) = (1 +

𝑗𝑚

𝑚
)

𝑡𝑚
 

 

𝑙𝑛 (
𝑆

𝑃
) = 𝑡𝑚 𝑙𝑛 (1 +

𝑗𝑚

𝑚
) 

 

𝑡𝑚 =
𝑙𝑛(

𝑆

𝑃
)

𝑙𝑛(1+
𝑗𝑚

𝑚
)
  

 

𝑡 =
𝑙𝑛(

𝑆

𝑃
)

𝑚𝑙𝑛(1+
𝑗𝑚

𝑚
)
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𝑡 =
𝑙𝑛(

50 000

36 450
)

12𝑙𝑛(1+
0.10

12
)
  

 

𝑡 =
0.316081547

0.099585633
  

 

𝑡 = 3.17 ≅ 3 𝑦𝑒𝑎𝑟𝑠                Option [2] 

 

 

23. 𝑡 =
𝑙𝑛(

𝑆

𝑃
)

𝑚𝑙𝑛(1+
𝑗𝑚

𝑚
)
  

 

𝑡 =
𝑙𝑛(

7500

5500
)

12𝑙𝑛(1+
0.10

12
)
  

 

𝑡 =
0.310154928

0.099585633
  

 

𝑡 = 3.114 ≅ 3 𝑦𝑒𝑎𝑟𝑠                Option [4] 

 

24. 𝑂𝑢𝑡𝑠𝑡𝑎𝑛𝑑𝑖𝑛𝑔 𝑎𝑚𝑜𝑢𝑛𝑡 = 330 000 

 

S = Rs n┐ i      

 

𝑆

𝑅
 = s n┐ i      but    s n┐ i = [

(1+𝑖)𝑛   −1

𝑖
] 

 

 

𝑆

𝑅
 = [

(1+𝑖)𝑛   −1

𝑖
] 

 

 

𝑖𝑆

𝑅
 = (1+i) n -1  

 

 

𝑖𝑆

𝑅
 + 1 = (1+i) n 
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ln (
𝑖𝑆

𝑅
+ 1 ) = 𝑛 ln(1 + 𝑖)  

 

n = 
𝑙𝑛(

𝑖𝑆

𝑅
+1)

ln(1+𝑖)
     

 

𝑡𝑚 = 
𝑙𝑛(

𝑖𝑆

𝑅
+1)

ln(1+𝑖)
     

 

𝑡 = 
𝑙𝑛(

𝑖𝑆

𝑅
+1)

mln(1+𝑖)
     

 

 

 

𝑡 = 

𝑙𝑛(
(

0.0775
12

)330 000

5000
  + 1)

12 ln(1+
0.0775

12
)

      

 

𝑡 =
0.355048622

0.077250811
  

 

𝑡 = 4.596 ≅ 4.60 𝑦𝑒𝑎𝑟𝑠              Option [2] 

 

25. 𝑆 = 𝑅 [
(1+𝑖)𝑛−1

𝑖
] 

 

400 000 = 𝑅 [
(1+

0.085

52
)

52𝑋12
−1

0.085

52

]  

 

400 000 = 𝑅(1083.365771)  

 

𝑅 =
400 000

1083.365771
          

 

𝑅 = 𝑅369.21 ≅ 𝑅369                                          Option [2] 

 


